
Lisa bakes 6 muffins. Max bakes 8
more muffins than Lisa bakes. Which
number sentence shows how to  find
the number of muffins Max bakes?

8 - 6 = 2

8 - 2 = 6

6 + 8 =  14

14 - 7 = 7

Jason and Lucy eat 13 raisins. Jason
eats 8 raisins. Which number sentence
shows how to find the number of
raisins Lucy eats?

13 + 8 =  21

9 + 4 =  13

5 + 5 =  10

13 - 8 =  5

Look at the pair of fact. Which shows
related facts?

 

6 + 5 = 11
5 + 1 = 6

6 - 1 = 5
5 + 1 = 6

6 + 5 = 11
5 + 5 = 10

16 - 8 = 8
5 + 9 = 14

Look at the pair of fact. Which shows
related facts?

7 + 7 = 14
8 + 8 = 16

7 + 8 = 15
8 + 9 = 17

1 + 7 = 8
17 - 8 = 9

7 + 7 = 14
14 - 7 = 7



13

3 +         = 11 11 -         =  3

Jack uses these 3 numbers to write a
related facts.

4 6
Which could be one of Jack's related
facts?

4  + 6 = 10

6 - 4 = 2

9 + 4 = 13

9 + 6 = 15

Lara uses these numbers to write
related  facts.

10 5 8
Which is not one of Lara's related facts?

13 - 5 = 8

8 + 5 = 13

5 + 8 = 13

12 - 8 = 4

Which is a related fact?
5 + 3 = 8
3 + 5 = 8
8 - 5 = 3

8 - 3 = 5

8 + 5 = 13

8 + 3 = 11

6 - 5 = 1

Which number is missing from these
related facts?

+ 3 = 11 11 - 3 = 

1 3 98



Mr. Stuart buys 11 erasers. He gives 7
erasers away. How many erasers does
he have left?

7 ?

11

3

4 18

7

Mitchell finds 6 shells on the beach.
Now he has 13 shells. How many shells
did Mitchell start with?

6

13

6 13

7 19

What is the missing number?

13 - 5 = 

5 +        = 13

4                                      8

5                                       9

What is the missing number?

8 +         = 16

1

6

8

10



8 + 4 =  8 + 3

Which number makes the sentence true?

3 + 4  =  9 - 

8

6

5

2

Which makes the sentence false?

9 + 3 

8 + 8

7 + 5

6 + 6

Which makes the sentence true?

5 + 8 = 14 - 

13

7

5

1

Which addition fact helps you solve 14 - 6?

6 + 6 = 12

6 + 8 = 14

7 + 8 = 15

8 + 8 = 16


